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Choose the correct answers.


	1.
	198 is smaller than

	
	A
	197

	
	B
	189

	
	C
	199

	
	
	


	2.
	In number 248, what is the  place value of 4?

	
	A
	Ones

	
	B
	Hundred 

	
	C
	tens

	
	
	





	3.
	Which of the following  gives the largest difference?

	
	A
	92 – 16

	
	B
	79 – 2

	
	C
	87 - 9

	
	
	





	4.
	Six hundred and twenty five

	
	A
	652

	
	B
	627

	
	C
	525

	
	
	



	5.
	Which of the following  is smaller than 582?

	
	A
	579

	
	B
	583

	
	C
	585

	
	
	




	11.
	     X      4

           36

The number Q is


	
	A
	12

	
	B
	9

	
	C
	8

	
	
	



	12.
	RM 2.50 convert to sen

	
	A
	250 sen

	
	B
	205 sen

	
	C
	25 sen

	
	
	


	13.
	50 sen – 35 sen =

	
	A
	RM 0.15

	
	B
	RM 0.30

	
	C
	 25 sen
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6.�
845, 745, ______, 545, 445


The missing number is�
�
�
A�
845�
�
�
B�
645�
�
�
C�
635�
�
�
�
�
�






7.�









What is the number P�
�
�
A�
218�
�
�
B�
223�
�
�
C�
234�
�
�
�
�
�






203





243





253





p





8.�
742 and 137 makes�
�
�
A�
561�
�
�
B�
615�
�
�
C�
879�
�
�
�
�
�






9.�
There are 5 packets of button. Each packet has 4 buttons. How many buttons are there altogether ?�
�
�
A�
9�
�
�
B�
15�
�
�
C�
20�
�
�
�
�
�






10.�
Which of the following gives the sum of 345?�
�
�
A�
241 + 113�
�
�
B�
22 + 323�
�
�
C�
150 + 104�
�
�
�
�
�






Q





14.�
Pak Atan has RM25. He gave his money equally to 5 of his children. How much money each of them will receives?�
�
�
A�
RM 9.50�
�
�
B�
RM 8�
�
�
C�
RM 5�
�
�
�
�
�






15.�
Twelve ringgit and twenty five sen�
�
�
A�
RM 12.85�
�
�
B�
RM 12.55�
�
�
C�
RM 12.25�
�
�
�
�
�









Heiry.com
Page 1

